EARAROBEEIERT — 2 N— IBISH —F

20145 7H8H (X) 6mAFH3H

Gl > %R — C2AEKE

‘ [Riz] ¥ ‘ [REBE] — | & (A) 1600M FHE

[A~&£] 1 7% :1,000,000  ~ 23 :300,000d 373 :180,000 "

4 7% 120,000 . 5 3& : 100,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. = . RFES 142, -9-8~ . — SR (KFH)
il 'y T B4 S 1(4_2)3 9-9-8-8 | 38.9 1 ;1_754) TRuR
L2V I TF— BTHTI-UA Eatie]
= . fo7 | FES 1:42.5 6-56-6 |39.3| — 6 484 | AfRIZBE (KH)
EE 2 YA ROy 34.0 (1 1/4) -3) L i)
RA—TXA AL B:FHIREH EvilLy RTp—L
44 | WAL 1:42.5 5-5-5-5 | 39.4| — 2 508 | BEBMER (KH)
3|88/ TIAL—-X 6.0 (F) (o) |UTER
R:GY—2TTO-X B:TAIRESRF HR Bk
s= e g 4 5 | AL 1:42.5 3-32-2 | 39.6| — 5 481 | FESRIGHD (/)\4K)
4l7l 7| BZ3>K-—F 56.0 (74%) 1) #_IRJ‘:
7 RvA4¥Y K> B:A—-F7>vUzl)> Eibtie]
RS . f 6 | AoA— 1:42.6 1-1-1-1 | 39.7| -— 9 445 | FIUEF (HF)
5By 3| FNLF LT -2 54.0 (1/2) (5 | HEm
LZARTT4ZAF— B:)Y—T7>rRO-X chify —=
S 4 6 | XEEZ 1:43.0 4-4-4-4 | 39.8| — 4 480 | BAEFIE (KH)
sge =" . %.0 @ o) | TR
LTAVHLRZ B:F14X4T&24K BIN77— L4
—: # 5 | KBS 1:43.2 7-7-7-6 | 39.7| — 3 457 | BRA—R (KFH)
7 4 #’3 '71*1'7‘:1_—7 ) 56.7,3 (11/2) (0) HerEx
LA vauk—5— BiHLIA )4 EE @R
o 42 o6 | EBAH 1:43.5 2-2-3-2 | 40.6 | — 7 467 | RIMTR (KFH)
8|5|5|R—/N=F—o ‘ 56.0 (1 1/2) ) BAEX
L:ayxHF— BATCRTY-I7 tH A
: 4 5 | EHE— 1:44.9 8-8-9-9 |41.4| — 8 520 | EHETT (KH)
9189 ¥aUT RN -4 56.0 @) (43) |LEE
Ry TELRYF— BTy Kby IR Erte )
® I—F—@EBIERL
13—7F— 3,5,7,6,8,2,4,9,1
Ao=5"= 3,5,7,6,(2,8),4,9,1
G=7"= 3,7,5,6,8,2,4,1,9
41—F— 3,(5,7),6,8,(2,4),1,9
[ RN
B 1 1909 794K 1-2 390 % E 1-2 1,130 &R 1-2-8 860F
# B 1 110M 1-8 190F B 1-2 1,770M EE 1-2-8 4,530
2 200M 2-8 510 B = 1-2 1,250/
8 130M B H 1-2 1,600

ABICOVWTRDTEEERROODE. TR LIV,




